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BUERE: TLA+EH

SIE. W(2, p)REEREE, F, L2ERmNETE, Rikdr, € Fi(i =
1,2), fEf3p(Fy, Fz) = p(a1,22), HH

p(FlvFQ) = lnf{p(xvy”x € Flvy € FZ}

SJEi2. (X, d)NERERE R, TRHIRINEE, (f)ier N2 TEME
BRI £y« X — X, NN € X, Bt € T — fi(x) € XRIELL

B, HAAEREE 0<k<1, HEMEMr,y e XMt e T,

d(fi(x), fi(y)) < kd(z,y).

XAt € T, Ha, € XFRINGS fIME— ARSI . IEHBUSt € T — 24 €
XFEIEB.

JRE3. WX MRIEEAEE . X Tr > 0, IERXFEMETIFERU(0,r) =
{reX:|z| <r}.

4. ERTE LM A.2 £ {0} &Banach 7 [A] 24 HAXHS = {z € X :
2] = 11524 .



